Learning Goal 2.2

| can apply exponent laws to expressions.

1. Simplify the following expressions to a single power (if possible). Show all your work.
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2. Simplify the following expressions. Show all your work.
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Extending

3. The tallest tree in the world, Hyperion in California, is about 102 m tall. The highest mountain, Mount
Everest, is about 10* m high. About how many times as high as the tree is the mountain?

Time Elapsed Time | Number of
4. Scientists grow bacteria. This table shows how the number of AflsrHosei(h) Bactens
bacteria doubles every hour. How many bacteria are there at noon 0 1000 x 2°
noon? At 3:00 PM? If the pattern continues, how many 1:00 p.m. 1 1000 x 2
bacteria would you expect by midnight? 2:00 p.m. 2 1000 x 22
3:00 p.m. 2 1000 x 23
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